Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes.

- Looking at them as little as possible, answer the questions.

The answers to the Week 10’s questions should be handed to me at the beginning of Thursday’s lecture of 18th of May. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK  10 in bold at the beginning of your answers.

Week 10

1.a)What is a MP based on an exchange rate anchor?

b)Explain the objectives of such a strategy and give three examples. 

2.a) What’s the difference between an expansionary and an inflationary MP?

b) Why have the governments of some countries a tendency to carry out inflationary FPs?

3.Explain the measures associated with an inflationary FP  and the way they lead to an increase in:

a)Inflation.

b)The money stock.

4.Explain the measure associated with an inflationary MP  and the way they lead to an increase in:

a)Inflation.

b)The money stock.

5. Consider the four types of IFI mentioned in the lecture.
a) Indicate the source of funds of each of those IFI.

b) What do they do with the money?

6. Consider the Portuguese economy in 1990.

a) Why did IFI demand a higher rate on Portuguese Tbs than on German Tbs?

b) If the BoPt had lowered its interest rate below the German interest rate plus the risk premium, IFI would have reacted in a way that would deplete the Portuguese CB’s reserves. Explain how this result would come about.

c) Are inflationary MPs possible under fixed rates? Explain.
7. Consider Argentina’s economy in January of 1988.
a) Explain the effect of the increase in government expenditure on inflation and the CB’s dollar reserves until March 1989.

b)  What did IFI start to expect at a future moment T?

c)  As a result of that expectation, what did IFI start to expect at a future moment T-1? Explain.

d) As a result of that expectation, what did IFI start to expect at a future moment T-2? Explain.

e) Following that reasoning, what did they start to expect right in March 1989?
f) “The behaviour of IFI in March 1989 fulfilled their prophecies”. Do you agree? Explain.

g) “The behaviour of IFI in March 1989 only anticipated something that was bound to happen sooner or later”. Do you agree? Explain.

h) In a sentence, why can´t governments of countries under fixed rates pursue inflationary FPs for even a brief period of time?





...
How an exchange rate anchor reduces to inflation
8.  Consider an economy at FE.  Inflation in one year tends to be transmitted to the next. How?

9. What’s the difference between tradable goods and non-tradable goods?
10. a) When a country’s currency depreciates by 20% year after year relative to the currencies of its major trading partners with zero inflation, what tends to be the country’s tradable goods inflation? Explain.

b) If afterwards the country’s currency is pegged to those currencies, the country’s tradable goods inflation drops instantly to zero. Why?
c) What happens to the country’s non-tradable goods inflation in the peg’s first year? Explain.

d) Does overall inflation fall by more or by less than ‘non-tradable goods inflation’ in the peg’s first year? Explain.

e) Explain the mechanism through the behaviour of overall inflation in the peg’s first year affects the behaviour of ‘non-tradable goods inflation’ in the second year? Explain.
f) What is the effect of the behaviour of overall inflation in the peg’s first year on the behaviour of ‘tradable goods inflation’ in the second year? Explain.
11. Present a brief summary of the mechanism through which an exchange rate anchor ends up reducing a country’s inflation rate to that of the anchor country

12. When an exchange rate anchor is implemented:

a) ‘non-tradable goods inflation’ takes time to fall. In one sentence, why?
b) nominal increases in wages and profits take time to fall. In one sentence, why?

c) expected inflation tends time to fall. In one sentence, why?

d) actual inflation tends time to fall. In one sentence, why?

(By now you should’ve understood the circularity involving the behaviour of the mentioned variables).
13. When an exchange rate anchor is implemented, nominal increases in wages and profits take time to fall. Explain the consequences of that fact on the country’s economy in the first years after the peg is instituted.
14. A country in an exchange rate peg cannot use MP to fight unemployment. Why?
15. A country in an exchange rate peg may be forced to raise interest rates in a period of rising unemployment. Under which circumstances? Explain.
